

# Golden Connection

Aayam Shrestha

February 2023

**Let's Prove:**

$$\phi = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} \quad (1)$$

**Proof:**

**0.1 Euler's Formula:**

$$e^{xi} = \cos(x) + i\sin(x) \quad (2)$$

**0.2 Relation of  $\phi$  and  $\sin(x)$  and  $\cos(x)$ :**

$$\sin\left(\frac{\pi}{10}\right) = \frac{1}{2\phi} \quad (3)$$

$$\cos\left(\frac{\pi}{10}\right) = \frac{\sqrt{4\phi^2 - 1}}{2\phi} \quad (4)$$

**0.3 Combining equations (2), (3) and (4):**

$$\begin{aligned} e^{\frac{\pi i}{10}} &= \cos\left(\frac{\pi}{10}\right) + i\sin\left(\frac{\pi}{10}\right) \\ &= \frac{\sqrt{4\phi^2 - 1}}{2\phi} + i \cdot \frac{1}{2\phi} \\ &= \frac{\sqrt{4\phi^2 - 1} + i}{2\phi} \\ &= \frac{\sqrt{4(\phi + 1) - 1} + i}{2\phi} \\ &= \frac{\sqrt{4\phi + 3} + i}{2\phi} \end{aligned}$$

$$\begin{aligned}
&\Rightarrow \phi = \frac{i + \sqrt{4\phi + 3}}{2e^{\pi i}} \\
&\Rightarrow (2\phi e^{\frac{\pi i}{10}} - i)^2 = 4\phi + 3 \\
&\Rightarrow 4(\phi + 1)e^{\frac{\pi i}{5}} + i^2 - 4i\phi e^{\frac{\pi i}{10}} = 4\phi + 3 \\
&\Rightarrow 4\phi e^{\frac{\pi i}{5}} + 4e^{\frac{\pi i}{5}} - 1 - 4i\phi e^{\frac{\pi i}{10}} = 4\phi + 3 \\
&\Rightarrow 4\phi e^{\frac{\pi i}{5}} + 4e^{\frac{\pi i}{5}} - 4i\phi e^{\frac{\pi i}{10}} - 4\phi = 4 \\
&\Rightarrow \phi e^{\frac{\pi i}{5}} + e^{\frac{\pi i}{5}} - i\phi e^{\frac{\pi i}{10}} - \phi = 1 \\
&\Rightarrow \phi(e^{\frac{\pi i}{5}} - ie^{\frac{\pi i}{10}} - 1) = 1 - e^{\frac{\pi i}{5}} \\
&\Rightarrow \phi = - \left[ \frac{(e^{\frac{\pi i}{5}} - 1)}{e^{\frac{\pi i}{5}} - ie^{\frac{\pi i}{10}} - 1} \right] \\
&\Rightarrow \frac{1}{\phi} = - \left[ \frac{e^{\frac{\pi i}{5}} - ie^{\frac{\pi i}{10}} - 1}{(e^{\frac{\pi i}{5}} - 1)} \right] \\
&\Rightarrow \frac{1}{\phi} = - \left[ 1 - \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} \right] \\
&\Rightarrow \frac{1}{\phi} = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} - 1 \\
&\Rightarrow \frac{1}{\phi} + 1 = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} \\
&\Rightarrow \frac{1 + \phi}{\phi} = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} \\
&\Rightarrow \frac{\phi^2}{\phi} = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1} \\
&\Rightarrow \phi = \frac{ie^{\frac{\pi i}{10}}}{e^{\frac{\pi i}{5}} - 1}
\end{aligned}$$